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1.5

5 19 783
5 19
( 12 3 30 57
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220 93 103 24
38 23
100 3 29 4 64 5 7 15
118 9
463 3 245 4 157 5 61 3 72
783 3 367 4 324 5 O2
4 18
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mN/h (n/h)
(kg/h) (W)
13,090 11,900 2.45 1,250 4.3

- - - 16.0 - 186.0 - 202 - - 3.7

54.0 259.0 32.0 160.0 193.0 539.0 144 .1 1,381 - - 160.0

141.0 378.0 25.1 221.7 336.0 734.3 222.8 2,059 - - 166.2

126.1 207.5 23.4 149.7 229.5 600.4 194.0 1,531 - - 162.6

125.4 182.4 22.9 133.5 60.8 747.6 255.2 1,528 - - 136.6

138.8 170.8 19.4 175.7 38.4 666.1 9.3 1,219 - - 150.2
10 136.8 222.2 20.9 132.8 43.5 597.8 22.7 1,177 39.9 81.7 121.6
11 122.2 174.4 18.4 157.8 40.3 542.4 3.0 1,059 39.1 84.5 123.6

844.3 1,594.3 162.1 1,147.2 941.5 4,613.6 851.1 10,154 79.0 166.2 1024.5
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pg-TEQ/ Pg-TEQ/g

98,000 3/24
13,000 47
160,000
230,000

9.0
61
130,000
250,000
( ) | 300,000

'€)) 230 477
) 34
3) 67
) 15

3,100

(V2) 150
') 180
(V1) 240

20

(A2) 14 4/7
(A2) 430

55

18
15
2,400
98

43
8.6 7.0 6.7 8.0 |3/23 3/23 3/31 4/7
320 477

10,000 210 3/23 3/31

38,000 27,000 [3/22 3/22

1 pg-TEQ/
1,000 pg-TEQ/g
( 13 1 15 )
10pg-TEQ/ ( 15 14 50pg-TEQ/ )

WHO-TEF (1998)
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220 1) - o B .
[#77 ] 230pg1EQ7g = . H3 IWH/ADT A +* LERERR
2 V2 | '
4/7 1 34 - 1877150pg-TEQ/
| R ERIF. :
(RAPSN\—HEK  |3/24] 98000|pg-TEQ/L
REHERRY) - 4/7 | 13000[pg-TEQ/g
UEEL) 4/7 | 160000|pg~TEQ/g _
ELOEERD 4/7 | 230000|pg-TEQ/ ) ”
A 477 9.0lpg-TEQ/ Vol || BRIS HITH
PRZ AR 4/7 61|pe-TEQ/ s/ R T ‘ ,
- ENCA 4/7 | 130000|pg~TEQ/d, ] 1
{FOCA 4/7 | 250000(pg-TEQ/ W o !
BB ERKES J4/7 | 300000[pg-TEQ/ o | ;
il . )
X = I
Al 4/7 3100]pa-TEG/4 E !
' ' . 3 l
s * i 5T
Dg il 1 4/7 |_20[pg-TEQ/4f
m - O B
it & 3 I [ 3
o s oom AL 67lpe-TEQ/ B EK4/7] 14lpe-TEQ/L
PO S 430|pg-TEQ/
] HBEMR b
e i e iV
o . K |4 I
Y ¥ % iii«ifﬁﬁﬁ?EE{-ﬁbmA 2 - : 3 a =
=== £ ¥ith _ Bk K 13/23] 10000]pgTEQ/Un e v e e e o $ BD i¥aa]
7 (MK FRHEK [3/31]  210[pg-TEQ/L . . :D
g L e =
B2 B KA RE o |l
38000[pe-TEQ/I] E’k, _J477 | 43lpe-TEQ/L 2 ]
27000[pg-TEQ/ BRoK%ifd4/7 | 320]pg~TEQ/ XL an
WK 13/23] 8Blpe-TEQ/L  [X55 477 18lpe-TEG/4] A
CIE: ’ K |3/31] 6.7|pe-TEQ/L  [RSHKEK|4/7 | 15|pe-TEQ/L 4/7] 180]pg-TEQ/g
3 IEEK [3/31] 7.0]pe-TEQ/L R 4/7 | 2400|pg-TEQ/
' K [4/7 | 8.0[pe-TEQ/Y IR K 14/7 | 98|pe-TEQ/
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ng-TEQ/nN

17, 12 H9
12 , 14 H10
9.2 , 4.2 H11
0.027 H11
(€D) 0.0017 H11
0.0034 H12
@) 0.00045 H11
0.0044 H12
pg-TEQ/L
130,000 , 81,000 H12.3.23 , 24
8.9 H11
9.5,12 ,16, 7.6, 3.2,1.3, 6.8 H12
30,000 H12.3.23
1,700 , 440 , 120 , 38 H12.3.24
5,200 H12.3.23
17 , 3.3 , 57 , 4.7 H12.3.24
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( TEQ)

*1 *2

3.0 2.3 3.7 2.8
0.024(0.019 0.026) | 0.020(0.013 0.023)

0.002
0.004
4.4(3.3 5.3)
*1
*2
1) :
0.0027 0.0010 -TEQ
2)
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€Y)

&)

€y

&)

3 23 9.5|1.1 27(8 ) pg-TEQ/L
24 2.710.93 8.7(23 )
12 2.4 35(10 ) | pg-TEQ/g
10 1.1 30( ) | pg-TEQ/g
( )
3 23 4100 4100 ( ) 1.7 1.2, 2.2(2 ) | pg-TEQ/L
24 42 | 1.6 280(21 ) 1.3 [0.70 1.7(3 )
0.55 | 0.36 0.75( ) pg-TEQ/L
2.4 1.1 4.6 ( ) pg-TEQ/g
1.6 0.20 8.1 (10 ) pg-TEQ/g
0.10 | 0.095 0.18(13 ) 0.10 pg-TEQ/L
0.23 | 0.12 0.38( ) | pg-TEQ/L
0.68 | 0.25 2.0 ( ) | pg-TEQ/g
0.14 | 0.078 0.35 ( ) | pg-TEQ/g
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0.027 | 0.027 0.028( ) | pg-TEQ/g
3.1 1.6 4.9 ( ) | pg-TEQ/g
0.068 | 0.068 0.069( ) | pg-TEQ/L
( ) 1 pg-TEQ/L
( 1,000 pg-TEQ/g ( 250pg-TEQ/g )
1 pg-TEQ/L
10
8.3 0.10 260 (205 ) pg-TEQ/g  (nd1/2)
( ) 2.2 0.048 30 (368 ) pg-TEQ/g  (nd1/2)
0.026 0.000071  0.61 (52 ) pg-TEQ/g  (nd0)
28 0.066 130 (52 ) pg-TEQ/g  (nd0)
0 pg-TEQ/g
No. ( 0.000022 pg-TEQ/g
No. ( ) 0.000024 pg-TEQ/g
WHO-TEF (1998)
(TEQ)
(nd0)
1/2(nd1/2)
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) pg-TFQ/ pg-TEQ/g pg-TFQ/g )
4/4 7 6 3/28 4/6
1726 |2/2-3(2/16 |3/23 |3/26 |3/31 |4/4 4/5 4/6 4/7 4/14 (4/18 |4/25 |4/26 |3/24 [3/27 |3/31 |4/4 |4/18 |4/26
0.81 |- 0.55 |- - -
- - - - - .3 - - - - - - - - |- - 2.6 |- - - 1 6.3
2.2 |- 1.2 |- - 0.70 |- - - 1.7 |1.4 |- - - - - - - - -
- - - - - - - - - - - - - - - - - - - - 112
(1.1
- _ 26 |-
.0 |- 0.22 |-
( ) |- - 5 |- 10 |- - - - - - - 0.8115.4 |- - - - 3.5 |-
3200 |- 8100 [4100 |27 (120 |- 14 38 10 6.0 (5.6 [190 |9.0 |- - - - - - -
4.112.0 |42 26 -
1.6 |280 9.7 -
3.1__|70____| 9.8 __|~___|
6.4 .6
( ) |- - - - - - - - - - - - - - 21 - - - - 35 |-
- - 27 - 9.1 |- - - - 1.6 12 - - - - 2.4 |-
1.5 |1.1 |1.6 |9.7 |3.2 | 23*|- 0.93 2.2 .8 1.8 |1.3 (2.9 |1.6 |8.0 |4.4 |- .0 |4.4 |3.2 113
9.7 4.4 2.0(1.1 |8.1 1.5 - 130
1.4 8.7 1.6 - : 5.8
J-;7____3_-§____1_'§_____ _____
1.3 .9
( ) - - - 21 - 70* | - - - - - - - 1.3 J250* |- - - 28 1 2.0
pg-TEQ/
10
§205 g 8.3 0.10 260
368 2.2 0.048 30
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Q)

3/31 3/31 3/28 4/3
0.36 2.0 0.56 0.44 1.0
0.55 4.6 8.1 1.1 1.6
0.75 1.8 0.64 0.7
- 1.1 2.1
- - 0.20
10
@05 ) 8.3 0.10 260
(368 ) 2.2 0.048 30
O pg-TEQ/ )
4/4 417
600m 0.098, 0.10, 0.098, 0.098,
13 ) 0.10, 0.098, 0.18, 0.098,
0.097, 0.098, 0.095, 0.098, 0.097
O pg-TEQ/ )
3/26
( 100m ) |0.10
pg-TEQ/
pg-TEQ/
(@) pg-TEQ/ pg-TEQ/g pg-TEQ/Q)
4/7 4/7 4/4
0.18, 0.14 2.0 , 0.48 0.14, 0.35

0.20, 0.34, 0.13, 0.27(0.34, 0.36, 1.5, 0.38

0.14, 0.078, 0.086, 0.093

0.38, 0.29, 0.12

0.25, 0.48, 0.35

0.15, 0.10, 0.098

pg-TEQ/
( ) 1,000pg-TEQ/g (

250pg-TEQ/g)
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I 0.000024pg-TEQ/g

P - S, A 1
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pg-TEQ/g pg-TEQ/g pg-TEQ/L)
4/3 4/3 4/3
0.027 4.9 0.068
3 0.028 1.6 0.068
0.027 2.8 0.069
10 pg-TEQ/g
52 0.000071 0.61 0.026
52 0.066 130 28
!0 pg-TEQg |
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